                 Case 1:

 totsubs  =  {e1 -> 1/2192, e3 -> 1/166, 

          b1 -> 1/7, b2 -> 1/6, b3 -> 1/5}

sxa = {0.363559352305709551694991958226659`20, 

     0.363557921561076956001638696615708`20, 

     0.339974708654198381213502283077245`20, 

     0.339972443473879056467419163955302`20, 

     0.296431911373261784065389274671264`20, 

     0.296431119209088920021658682547455`20, 

     2114.6779064860315699408562820565`20, 

     2114.175722488961998308090839074`20, 

     2293.1560625771558379268627372806`20, 

     2292.2939522836141951609922371819`20, 

     2746.1508802433459446029790820789`20, 

     2745.7897871970582507309309568302`20} 

pp = {0.3635458240261748, 0.33996306643187385,  

        0.29642441745726816}

SVa = {0.3468253968253968, 0.3349206349206349,   

                0.31825396825396823}

SVe = {437/1260, 211/630, 401/1260}

ptot = 0.9999333079153168

   Probabilities of the various coalitions 

forming in the process:

  prob23coal = co1 = 0.3521597723247086

  prob13coal = co2 = 0.3397346289481023

  prob12coal = co3 = 0.3081055987271891

